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Find the molar mass of the following compounds
	1. Zn(OH)2   
2. Pb4(PO4)3   
	3. Ba3N2
4. C2H4O2    



Draw your mole road map below:














Solve the following conversion.  Use your mole map to determine the number of steps needed to solve the problem.  YOU MUST SHOW WORK WITH UNITS AND CHEMICAL FORMULAS

1. ______ mol Ba3N2 = 278.35 g Ba3N2
2. _____ L Ba3N2 =  3.68 mol Ba3N2  
3. _____ g Ba3N2  = 2.98 L Ba3N2  
4. _____g C2H4O2  =  6.78 mol C2H4O2  
5. _____ mol C2H4O2  = 78.29 L C2H4O2  
6. _____ L C2H4O2  =  679.23 g C2H4O2  
7. _____ particles Pb4(PO4)3   =  3.45 g Pb4(PO4)3   
8. _____ g Zn(OH)2  = 2.34 x 1029 F.U. Zn(OH)2   
9. _____ g Zn(OH)2  =  68.5 L Zn(OH)2   
10. ______ mlc C2H4O2   = 3.06 L C2H4O2    



